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Review:  

Find the correlation coefficient and find an equation that is represented by the data below:
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Reject Hy: p = 0 if the absolute value of r is greater than
the value given in the table. The values are for a two-tailed
tes; df. =n—2.

d.f a =005 a =001
1 0.999 0.999
2 0.950 0.999
3 0.878 0.959
4 0.811 0917
5 0.754 0.875
6 0.707 0.834
q 0.666 0.798
8 0.632 0.765
) 0.602 0.735

10 0.576 0.708
1 0.553 0.684
12 0.532 0.661
13 0.514 0.641
14 0.497 0.623
15 0.482 0.606
16 0.468 0.590
17 0456 0575
18 0.444 0.561
19 0433 0.549
20 0423 0.537
25 0.381 0.487
30 0349 0.449
35 0.325 0418
40 0.304 0.393
45 0.288 0.372
50 0.273 0.354
60 0.250 0.325
70 0232 0.302
80 0217 0.283
90 0.205 0.267
100 0.195 0.254





Predict how many acres will burn if there are 60 fires.
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Test the following if there is a significant correlation at 95% confidence.

[image: image4.png]12. A medical researcher wishes to see if there is a

relationship between prescription drug prices for
identical drugs and identical dosages that are prescribed
for humans and for animals. The prices are shown. Is
there a relationship between the prices?

Prices for
humans x

0.67 0.64 120 051 0.87 074 050 1.22

Prices for
animals y

0.13 018 042 025 0.57 057 049 1.28

Source: House Committee on Government Reform.
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19. A meteorologist wants to see if there is a
relationship between the number of tornadoes that

occur each year and the number of deaths attributed to
the tornadoes. The data are shown for 10 recent years.

Is there a relationship?

No. of tornadoes x | 1133 1132 1297 1173 1082
No. of deaths y 5339 39 33 69
No. of tornadoes x | 1234 1148 1424 1342 898

No. of deaths y

30 67 130 94 40
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